ANNUAL EXAMINATIONS-APRIL:2010

MATHEMATICS

· SYL:Statements&Sets,Matrices,Statistics

	Time:2Hrs                                                                                                                            Marks:35



                                                   PART-A


                                                   Section-I
                              Answer any 2 Questions from each Group  4*6=24
Group-A (Statements&Sets)

         1. Show that A-(BUC)=(A-B)∩(A-C) for any three sets A,B,C.
         2.If A,B are two subsets of a universal set then (AUB)’=(A’∩B’)

   3.Show that A-(B∩C)=(A-B)U(A-C) 

         4.Prove that A∩(BUC)=(A∩B)U(A∩C)

Group-B (Matrices)
1. Solve using cramers method x+5y=17,5x+y=13

2. solve using matrix inversiom method 3x+4y=8,x-6y=10

3. if A= a b      I=1 0  Show that A-(a+d)A=(bc-ad)I.
                     c  d          0 1 

 4.Given A= -2  1      B= 2   0

                   5 -3             5 -3       find (AB)=B A
Group- C  (Statistics)
            1.   Find the Mean from the following data
	Marks                             0-9 10-19 20-29 30-39 40-49 

	No Of students                  8    15     20       45       12


2.Find the Median from the following data

	Marks                             0-5  5- 10  10- 15  15-20 20-25



	

	No Of students               10    18          42        23    7


3.Find the mode from the following data

	Marks                    15-24   25-34  35-44  45-54  55-64  65-74

	No Of students
8            20        28      30        10      4


4.Write the merits and demerits of the Mean,Mode,Median.

Section- II      4*2=8
·  Answer Any 4 Questions choosing atleast one from each of the following groups

Group-A

1. Prove that A’-B’=B-A
2. Write the truth table to Conjunction

3. ∽(p  ￫ q ) =(∽q  ￫  ∽p)
Group-B
1.A= 1   4    B= 9   -4    find AB


         2   5         -2   1  

2.if A= 1    2   S.T B+B=4I       

           1    3   
  3.  A=1   2         B=  5  6 find  A+B and B+A.

            5   6                7  8                              

Group- C

1.The Mean of 10 observations is 16.3.By an error the observation is reristered as 32 in stead of 23 .find the correct mean.

2.Find the Mode when median is 125.6 and mean is 128

3.write the formula of the median and explain letters in it 

         Sections-III                            3*1=3
Answer any three questions

1.Define tautology.

2,.if n(AUB)=51,n(A)=20, n(B)=44, find n(A ∩B).

3.Define singular matrix and non Singular matrix.

4.Define Square,reactangle matrix.

5.The sum of the 10 Obervations is 420 find mean.

6.Find the median of the Observations -3,-5,-8,0,3,2,-10

